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入　学　試　験　問　題

英　　　　語

₁．試験開始までこの問題冊子の中を見てはいけません。

₂．この問題の試験時間は，約90分間です。

解答はすべて解答用紙（マークシート）にマークしてください。

₃．問題は全部で64問で、通し番号が1 〜 64までついています。

解答用紙（マークシート）にも同様に1 〜 64まで通し番号がついています。

前半60分はリーディング，後半約30分はリスニングです。

リスニングが始まるとリーディングには戻れません。注意してください。

リーディング：READING COMPREHENSION（No.1 〜 3）

GRAMMAR AND USAGE（SECTION 1 〜 2）

リスニング　：PART 1　CONVERSATIONS

（SHORT CONVERSATIONS, LONG CONVERSATIONS）

PART 2　MONOLOGUES（1 〜 3）

₄．問題と解答は，声を出して読んではいけません。

₅．印刷がはっきりしない場合のほかは，問題についての質問は受けません。

₆．終了の合図で，すぐ筆記用具を置いて解答の記入をやめてください。

₇．この問題冊子は回収するので，持ち帰らないでください。

₈．試験中は，監督者の指示に従ってください。

₉．不正行為があった場合は，解答はすべて無効とします。

₂₀₅₁

リ ス ニ ン グ ・ テ ス ト の み  抜 粋 し て 掲 載 し て い ま す
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SHORT CONVERSATIONS

Which one of the statements is correct?

ａ）The man loves to eat traditional Japanese food.

ｂ）The woman took her father to a restaurant.

ｃ）The man enjoyed the woman’s Japanese noodles.

ｄ）The woman did some cooking in the summer.

Which one of the statements is correct about the man?

ａ）He needs to finish a report by tomorrow.

ｂ）He is writing his report without taking a break.

ｃ）He asked the woman to make coffee.

ｄ）He does not want to go to work today.

Which one of the statements is correct?

ａ）The woman lost her iPad but found it under a desk.

ｂ）The man is studying at the library right now.

ｃ）The man wants to meet the woman at the library later.

ｄ）The woman was studying at the library last night.

Which one of the statements is correct?

ａ）The man and the woman will go to the same university.

ｂ）The woman has some concerns about her future campus life.

ｃ）The woman will continue what she was doing at high school.

ｄ）The man is giving advice about the woman’s campus life.
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Which one of the statements is correct?

ａ）The woman buys lunch at the cafeteria.

ｂ）The man needs money for a trip.

ｃ）The woman asks the man for advice.

ｄ）The man will keep his lunch habits.

Which one of the statements is correct?

ａ）The woman thought the man’s car was new.

ｂ）The woman has always liked the color red.

ｃ）The man bought a red car from the car dealership.

ｄ）The man painted his car the color black.

Which one of the statements is correct?

ａ）The baseball game was cancelled because of the rain.

ｂ）The man played baseball after the rain stopped.

ｃ）The woman enjoyed the game on a muddy field.

ｄ）The weather forecast said that it would rain on Sunday.

Which one of the statements is correct about the man?

ａ）He listens to audio books while doing something else.

ｂ）He prefers reading books to listening to audio books.

ｃ）He thinks it is difficult to study a language with audio books.

ｄ）He is advised by the woman to subscribe to an audio book service.

Which one of the statements is correct?

ａ）The man studied in Spain for two weeks.

ｂ）The man wants to go to Spain with the woman.

ｃ）The woman did not know about the summer program.

ｄ）The woman worked hard to join a summer program.
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Which one of the statements is correct?

ａ）Jane was absent from class because she was sick.

ｂ）Jane called one of her friends this morning.

ｃ）The woman talked with Naomi and Kim today.

ｄ）The man cannot meet the woman this afternoon.

Which one of the statements is correct?

ａ）The woman’s sneakers are new. 

ｂ）A shoe store opened yesterday.

ｃ）The man thinks the woman’s shoes are expensive.

ｄ）The man already knew that the new shoe store was having a sale.

Which one of the statements is correct?

ａ）The woman handed in her homework late.

ｂ）The man had to run back to his home.

ｃ）The woman and the man’s class was canceled.

ｄ）The man emailed his teacher last night.

Which one of the statements is correct?

ａ）The man decided to change his order.

ｂ）The man decided to pay with a credit card.

ｃ）The woman will help the man to look for his wallet.

ｄ）The woman will wait while the man looks for his wallet.
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Which one of the statements is correct?

ａ）The man feels happy whenever he goes to Tokyo Disneyland.

ｂ）The man first went to Tokyo Disneyland when he was a baby.

ｃ）The woman has hardly ever been to Tokyo Disneyland.

ｄ）The woman always enjoys the experience of going to Tokyo 

Disneyland.

Which one of the statements is correct?

ａ）Paul lent a recipe book to the woman.

ｂ）Paul will visit the man and the woman for dinner.

ｃ）The man is looking for a book in the living room.

ｄ）The man will help the woman cook Italian food.

Which one of the statements is correct?

ａ）The man is interested in going skiing in Canada.

ｂ）The woman is advising the man about his trip.

ｃ）The man knows that October is a good season to visit Canada.

ｄ）The woman will see the colored maple leaves with the man.
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LONG CONVERSATIONS

Long conversation 1

Where are the speakers?

ａ）In a restaurant

ｂ）At the beach

ｃ）On a mountain

ｄ）In a boat

What did the woman do?

ａ）She took photos of the mountains.

ｂ）She chose a good place to eat.

ｃ）She went swimming in the ocean.

ｄ）She forgot to bring paper cups.
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Long conversation 2

Which one of the statements is correct about the woman?

ａ）She is not experienced at playing tennis.

ｂ）She taught her aunt how to play tennis.

ｃ）She started playing tennis a year ago.

ｄ）She has improved her tennis skills.

Which one of the statements is correct about the man?

ａ）He doesn’t know how to play tennis.

ｂ）He taught the woman how to hit the tennis ball.

ｃ）He has been playing tennis for about a year.

ｄ）He wants his aunt to practice tennis more often.
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Long conversation 3

What are the speakers talking about?

ａ）A weekend backpacking trip

ｂ）A late homework assignment

ｃ）How to stop making mistakes

ｄ）A missing history class paper

Which one of the statements is correct?

ａ）The man did not sleep because he had schoolwork to do.

ｂ）The woman checked the items in the man’s backpack for him.

ｃ）The woman will turn in the man’s late homework for him.

ｄ）The man and the woman figured out how to use the printer.
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Long conversation 4

What did the woman say about restaurants?

ａ）She used to eat at restaurants in New York often.

ｂ）She likes going to restaurants in Tokyo.

ｃ）London restaurants have good service.

ｄ）Paris has restaurants with nutritious food.

Which one of the statements is correct?

ａ）The woman is inviting the man to her favorite restaurant.

ｂ）The woman is impressed with the service at restaurants in Tokyo.

ｃ）The man traveled around the world to try various local food.

ｄ）The man likes traditional Japanese food the best.
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MONOLOGUES

Monologue 1

What is this monologue mainly about?

ａ）Cars that fly in the air

ｂ）Science fiction movies

ｃ）Toyota, the car company

ｄ）What people think about flying

According to the monologue, which one of the statements is correct?

ａ）Flying cars were first designed 20 years ago.

ｂ）Many cars that fly will be operated using electricity.

ｃ）Toyota is being financially supported by new car companies.

ｄ）Toyota is designing flying cars for science fiction films.
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Monologue 2

According to the monologue, how many kiwis die every year?

ａ）68,000

ｂ）6,800

ｃ）4,000

ｄ）1,400 

According to the monologue, which one of the statements is NOT 

correct about kiwis?

ａ）Their feathers look like fur and they have no tail.

ｂ）As they have small wings, they can’t fly.

ｃ）They hunt for food at night because they can see well. 

ｄ）Female kiwis grow to be larger than males and lay big eggs.
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Monologue 3

What is Lafcadio Hearn’s connection to Ireland?

ａ）He was born there.

ｂ）He grew up there. 

ｃ）He worked there.

ｄ）He wrote about Japan there.

According to the monologue, which one of the statements is correct 

about Lafcadio Hearn?

ａ）He suggested the creation of a place that was named after him.

ｂ）He spent most of his childhood in Greece.

ｃ）He became a journalist in the United States. 

ｄ）He had a Japanese wife and lived in Japan for 40 years.
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